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A box slides down an inclined plane with friction
and compresses a spring with spring constant
K. The box then goes back up the incline to a
height h. | then replace the spring with a new
spring with spring constant 4K.

How far back up the incline will box go?

* A
* B) Twice as high
* C) ¥ ashigh

e D) 4 times as high

* E) unable to determine



Interactive Question

A ball drops some distance and gains 30 J of kinetic
energy. Do not ignore air resistance. How much
gravitational potential energy did the ball lose?

A) More than 30 J
B) Exactly 30 J
C) Less than 30 J
D) It depends on the mass of the ball.
E) More information is needed to determine the answer.
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